[image: image1.png]8¢ ' . Suppose the management is confident of all the estimated payoffs excopt foc $4 million. If the

oty of vt 35, o Vs g of Pl o Epem et ol e shemate s
Rt i onmm xpeced e e o e
(9 s deice whethe toconsivct vl medivm,o g sping ot A constans
enicate 30 probabi, ot G 1 o a0 by that emand il
iy
Wi b  amll iy s dad s cut 0 b kv, e e el il b
50 o, deman e ot 0 b igh, e o ithr ooyt and ez 5 ik i
o of 542 il o cxand ety o vt preen o o S48 milon.
T i cook bk i iy a8 hdg: 1 deand s ot  be ot
emen vl i simated at S22 s  emand o ot o b high, e i culd o
v etz ot st b f 34 i o . oukd coan s s o 84 prse

10 frm builds g ity and decuand i low the e pres value il be 520 millio,
shes ighdemand will el i i presnt vl of S72 il

& Ay thisproblem usng a docision es.

6 Vos s e masimio leraive?

€ Conpute the EVPYand nerpet i

. oo seiivity analysis on Phigh).

e e e e Sy e gt et
e e e ey o e e s
i s e e e e et
e ot e e e e

s iy oo e e sy f i dernd
o

S —————

Jmand is low and $130,000 if demand is high.
vt o o o s 5000 dor i ih e

i ooy oo i, s et v v O
o o e s e o s e vl RO o
e et e s i e o

i e s






